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QUESTION 1

Which statement describes GRES? 

A. GRES requires NSR to function properly. 

B. GRES provides routing loop protection. 

C. GRES provides hardware-level high availability. 

D. GRES rapidly detects link failures. 

Correct Answer: A 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, which set of interfaces is enabled for Ethernet switching? 

A. ge-0/0/6, ge-0/0/7, and ge-0/0/8 

B. ge-0/0/6, ge-0/0/8, and ge-0/0/10 

C. ge0/0/6, ge-0/0/7, ge-0/0/8, and ge-0/0/10 

D. ge-0/0/6 and ge-0/0/8 

Correct Answer: C 

 

QUESTION 3

What types of authentication are supported in Junos for OSPF? 

A. Simple password 

B. MD5 checksum 
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C. Hitless key chain of MD5 keys/checksums 

D. All of the above 

Correct Answer: D 

 

QUESTION 4

Click the Exhibit button. 

Referring to the exhibit, the IRB interfaces are configured with which family? 

A. irb 

B. ethernet-switching 

C. inet 

D. l3-interface 

Correct Answer: C 

 

QUESTION 5

Which statement is correct about access ports? 

A. Access ports must have an IRB assigned to accept untagged traffic. 

B. By default, access ports accept only VLAN tagged traffic. 
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C. Access ports must have an IRB assigned to accept VLAN tagged traffic. 

D. By default, an access port can have only a single VLAN assigned. 

Correct Answer: D 
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